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1. BRIBREO

(1) R H U

1) BABEERR 57,456 48,561 106,017
FA B EEFI EURA 57,007 48,561 105,568
BEEEERIRA 449 449

2)ZWMEE 0 0 0
l2zmA 0 0

3)BEIRE 17,963,200 250,000 18,213,200
EY 353 FEIIRA 17,321,200 250,000 17,571,200
HEER 4 BRUR A 642,000 642,000

4) 2R &% 15,717,800 0 15,717,800
BREFHEERZEWMA 842,400 842,400
ZEEHURA 14,587,400 14,587,400
ZDhiEEE 288,000 288,000

5)%lREIEE 0 0 0
RAFEIA 0
EBMEEZEEIEEIRA 0 0

6) BT RURA 3,168,000 0 3,168,000
B EIA 3,168,000 3,168,000
ERIFEIRA 0

7) 4IRS 0 347,781 347,781
ZEFE 852 852
HULA 346,929 346,929

FE I E 36,906,456 646,342 37,552,798
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O=E3
BT Y 9,220,968 9,220,968
B¢ 14,296,700 14,296,700
R A 2 F 990,055 990,055
EEENE 1,237,225 1,237,225
BHELE 235,200 235,200
SHE 372,183 372,183
R 3 E B 626,543 626,543
BIEEWE 471,892 471,892
BAREH & 0 0
HEERE 789,022 789,022
BireE 612,301 612,301
ENRI S A 935,892 935,892
IKENEAE 2,481,760 2,481,760




B = NIWEERE EARE RNERESIEE =)
BN 1,273,250 1,273,250
RIEH 227,504 227,504
ik 0 0
AR 52 1,778,800 1,778,800
£iEE 770,827 770,827
HE 750,096 750,096
QEEE
HEF 188,183 188,183
R B 44 11 22 AR 20,205 20,205
EEEHE 25,249 25,249
BRELE 4,800 4,800
=8 7,596 7,596
MR R EE 12,787 12,787
BIEERE 9,630 9,630
HEERE 7,970 7,970
ENRIS A 2 19,100 19,100
KA 25,068 25,068
GiiEs N S 8,750 8,750
#HoB 194,900 194,900
e 3,873 3,873
BEXIRE 48,000 48,000
HE 3,769 3,769
SERAH 37,070,218 579,880 37,650,098
SEEEE A 163,762 66,462 A 97,300
2. BENEHOH
(1) FEE S 0 0
EEEEZER 0 0
HUTA 0 0
(2)BENER 0 0
EAE XM 0 0
BYREE 0 0
E7E & ERRENE 0 0
24 B — A% 1E BR B4 AE 1 R AR A 163,762 66,462 A 97,300
—RIERHEHNEERS 149,831,406
—RIERMEARES 149,734,106
1. $55€ 1E Wk BA 2 1 iR D BB
L4 5 T 1E IR BA E 18 R AR
EEEHRMENREES
EE EHRMEREES
II. ERREAEARES 0 0 149,734,106




